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Please make sure that the printed pages in this question paper are 7 in number and it
contains 14 questions.
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The Code No. and Set on the right side of the question paper should be written by the
candidate on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don't leave blank page/ pages in your answer-book.
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Except answer book, no extra sheet will be given. Write to the point and do not strike the
written answer.
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Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective type
questions.
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Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after examination.

NOTE: The question paper is divided in to four sections (A, B, C, and D)

i) SECTION A consists of 1 Question (10 Objective Type Questions of 1 mark each).

if) SECTION B consists of 4 Very Short Answer type questions of 1 mark each.

fii) SECTION C consists of 5 Short Answer type questions of 2 marks each.

iv) SECTION D consists of 4 Essay type questions of 4 marks each with Internal Choice.
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SECTION-A

1. All questions are compulsory and carry 1 mark each. 10
Tt Uy e € SiR e 1 31 BB

i. A collection of hyperlinked documents on the internet will form
a) World Wide Web (WWW)
b) E-mail system
¢) Mailing list
d) Hypertext markup language

g YUl R BRI U 7Y S&iTdell 1 398

a) dce dIZS ag (WWW)

b) 3-Ad yomett

c) e gt

d) BEW R AIH3Y diasl

ii. Inthe normal form, a composite attribute is converted to individual
attributes.
a) First
b) Second
¢) Third
d) None of the Above
ArHd wrd #, T wry faRivdT & sre-sra favivarsit # uRafid fear smar g |

a) Ugait
b) Gl
c) SRRl
d) SIS H D1S 51



iili.  Among the following, which is the HTML paragraph tag?
a) <p>
b) <pre>
c¢) <hr>
d) <a>
frofifad & § S19-91 HTML IRET ¢ 82
a) <p>
b) <pre>
¢) <hr>
d) <a>
iv.  Ifthe elements “A”, “B”, “C” and “D” are placed in a queue and are deleted one at a
time, in what order will they be removed?

a) ABCD
b) DCBA
c) DCAB
d) ABCD
& element "A", "B, "C" 3R "D" & U queue T IWT ST § 3R U IR H geT fear oar g, at
g b oA H g ST
a) ABCD
b) DCBA
c) DCAB
d) ABCD
\A Tag is used for making the text bold.
CHE B FIeS PR & oY T BT IWM g &
vi. Operator in C++ requires three operands.
cH+ | STIRER B i SHTRS BT SaRIH T Bl 5

vii.  “header” keyword is used to declare the header file in C++. True/False

C++ H 23S I3d &I fSFIIR B & foIU “header” HIag BT YA fobdl STdT B, I/ 3T

viii. HTML files are saved by default with “.html” extension. True/ False

HTML BT5d fShiee U «html” TRICIH & I1Y T4 Bid! 8. I/

Direction: In the questions given below, there are two statements marked as
Assertion (A) and Reason (R). Choose the correct option out of the choices given
below in each question:
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ix.  Assertion (A): Primary key is a set of one or more attributes that identify tuples in a
relation uniquely.
Reason (R): Every table must have one primary key.

I.  Both (A) and (R) are correct and (R) is correct explanation of (A).
II.  Both (A) and (R) are correct and (R) is not the correct explanation of (A).
II.  (A)is true but (R) is false.
IV. (A) is false but (R) is true.

%%A): UISH 1 U 1 31 fARvarsii &1 T Te g o) fafRy U T Yy & eucy &1 UgaH
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ML (A) I 8 AP (R) ST B
IV. (A 39T g AP (R) T B

X.  Assertion (A): The Internet is a collection of interconnected computer networks.
Reason (R): World Wide Web is a collection of interconnected documents.

I.  Both (A) and (R) are correct and (R) is correct explanation of (A).
II.  Both (A) and (R) are correct and (R) is not the correct explanation of (A).
III.  (A) is true but (R) is false.
IV.  (A)is false but (R) is true

FY (A): AT MUY A TS SR Aedd &1 UH IIE g
PRI (R): TG A58 39 YT H IS SxTdoll &1 Uh WIE | |
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IV. (A)3™d g AP (R) T4 B

SECTION-B
All questions are compulsory. Marks are indicated against each question.

oft Uy Sfard €1 U UY & 3ih I9b I feu MU B

2. Define friend function in C++. 1
C++ H Ths har &1 gRHTRd B |
3. What is Multi Level Inheritance? 1

et Aqel SRR T B |

4. Define INF. 1
1NF &1 aRYTd PifeTu|



5. Write the syntax of Create a Table in SQL. 1
SQL H Create a Table BT Ry ford |
SECTION-C
Marks are indicated against each question.
TS TY &F 3 I T fau T
6. What is a constructor? Name different types of constructor in C++. 2

I.

I1.

a)
b)
Q
d)

II.

PHIEFR T 82 C++ H AT IR & Seeaex & 9 forfau|
OR

Explain the use of scope resolution operator in C++ programming.

C-++ IYUTIET & WD IY ISR SHURER & SUINT o1 HRSAT x|

Explain AVG () function, its syntax in SQL with example. 2
AVG () BaRH 3R 39 Riee & SQL H 3180 Ifed IHgmsu |

How to add hyperlink in a web page using HTML? 2
HTML &1 UGN b U 99 Ul H BIRIRIGE & $Y SIS hd & 2

Ranjana has to work on her science project which deals with electromagnetic waves. A
lot of research work is required by her for the same. She uses Google Chrome to search
for the relevant matter.(Give answer based on the above information) 2
Google Chrome is an example of a
a) Website
b) Web browser
c) Web Page
d) None
She finally locates some useful information and clicks on the link provided to  access
the website. The link is actually known as a
a) Domain name
b) Web Page
c¢) URL
d) IP address

O Y STt AT URESTT TR T8 HRAT1 8 o faggd Tas g aeit & W 81 39 forg agd
IR MY BT P1 ARG DH T ¢ | I8 Ui AT B WISl &b AT Google Chrome T STTNT Bl B |
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c¢) URL
d)y IPUdl

10. A School in Haryana uses DBMS to store student details. The school maintains a database
'school_record' under which there are two tables.
Student Table: Maintains general details about every student enrolled in school. StuLibrary
Table: To store details of issued books.
BooKID is the unique identification number issued to each book.
Minimum issue duration of a book is one Day. 2

i & e Wa o fAaRur WEld A & U DBMS &1 IUANT &RT §1 WA Uh Scad
g Rele [ar g forad dgd al eaa g

Student Table: ¥ o ¥ ATHifGd Ud® B b IR H I IR0 @ 8|

StuLibrary Table: SRl &1 T Jx! & fqaR0 & TR B & (AU

BookID YA T &1 SR} &1 o arell fafks ugem = g1

TGP BI GAqH SR R DT 3afd U feA |

[ Student Stulibrary

|Field Type Field Type.
StulD numeric BookID numéric
StuName varchar{20) StulD numeric
StuAddress varchar({50) Issued_date |Date

StuFatherName |varchar{20) Return_date |Date

StuContact numeric

StuAadhar numeric

StuClass varchar(5)

StuSection varchar(1)

I.  The Primary Key for StuLibrary Table is/are .......

StuLibrary ¢§d & forg gast ot 8/8 |
a) BookID
b) BookID,StulD
c) BookID,Issued date
d) Issued date

II.  The Alternate Key for Student Table will be ..........
Student 2Sd & foTT Adbfetes Folt ... gt
a) StuName
b) StuContact
c) StuAadhar
d) StuClass

SECTION-D
11. What is Stack Data Structure? Write an algorithm to insert an element in a stack.

W ST TRR FT 82 U e § T Tferie STa- & forg Uep wanivyw ford | 4
OR
What is sorting? Explain Selection Sort in detail with example.

6
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12. What is Software Engineering? Explain different phases of SDLC.
TrFedw SNaRer Far § 2 SDLC & faf¥d TRl & aRe & |

OR
What is software testing? Explain different levels of software testing.

AT aTR Uerur R 22 TToedTR UIeur & fafiet TRl &t oure HIfTu|

13. What is a computer network? Why do we need networking in computers? Explain
different types of computer networks.

HUEER Yedd T 27 BH SR H AedfbT B IRl FT 3?7 SRR Hedd P it
UHRI &l TASTST|

OR
Explain each:
1. HTTP i1.URL
iii. FTP ivWWW
T 1 HRSHAT .
i. HTTP ii.URL
ii.FTP iv.WWW

14. Define Inheritance in C++. Explain any 3 types of inheritance.

C++ U 3TeRCY DI URHING SIS | 3TeRET & b1 3 THRI b1 FHATST |
OR
Write a C++ program to define a class employee having

Wemployeeﬁ%ﬁ?‘ﬁ? W%%’QWC++ W%’@Eﬁmﬁ

Data Emp-id
Member Emp-name
greT AFET basic salary
Member accept()
Function display()
AT GFAT

Calculate DA=25% of basic salary, HRA=800, I-tax=15% of basic salary. Display the pay
slip using appropriate output format.

DA = & U &7 25%, HRA = 800, |-¢RT = Y T BT 15% 1 0T B3 | SUGaRT 3T3CYe
WY BT IYAN B U Rfu yefRid 3|




